1/0 do/dN

=
<
[IEY

Ratio to ATLAS

=

-
o
R

-
o
@

1074

[EEY

0.5

7000 GeV pp

Soft QC

= | NN Y L B L AL L A E
:_ Charged multiplicity(NCh >20,p_>0.1GeV) ]
:— i W —:
= w @, W =
= N =
:— \*. \\&\\ - u —;
= \K\ \.*\fa@\\ =
_ RN s
=~ m  ATLAS =
= _ o Pythia 6.428 390 0 S -
L .- Pythia 6.428 391 N B —
= - - Pythia 6.428 392 N =
~ - Pythia 6.428 396 __
= % Pythia 6.428 397 Uy =
—  --+¥-- Pythia 6.428 398 ’f =
SR I S S AU RS S S SO NN =
PR IR L |
150 200

Rivet 3.1.10, = 3.1M events

mcplots.cern.ch [arXiv:1306.3436]

N



	Contents
	Page 1


